Math 232 Calculus 2 Spring 18 Midterm 2a

Name: Sb(M)ﬂMS

e I will count your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(1) (10 points) Find fsin 4z sin 5z dz.
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(2) (10 points) Find /se-cs?x de. = j LXK . j.c(,?:x dx
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(3) (10 points) Find/mdx. A P,
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(4) (10 points) Find / = +$12)(_3:f Y dzx.
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(5) (10 points) Find f ze 3% dx.
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(6) (10 points) Find the degree three Taylor polynomial for f(z) = e!/* centered
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(7) Consider the series 1 + % - % + % .-+, Find an explicit formula for the partial
sum Sy. Hint: compare Sy with %S ~. Use your formula for Sy to show that
the series converges, and find the limit.
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(8) Does the series E e COTVETECHOE diverge? If it converges, find the
ek 2 3n+2

exact value.

= A B AR) « B(aw)
A Ontl (n \’)(}'\W) el wi @m\ (y\-rb)

Wz —\ - \ = A j \

1l
]

W= -1: | = -0 Wil L
TN G T T T I DU R B
L 35 t%F¥ Nl NAL I
inn L. L - L
1 L 2



10

converge or diverge? Explain.
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(10) Does the series z
n=1
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